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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. What are the conditions of trade and balance of

payments ? What are the 4 components of balance of

payment ?





2. Explain the main characteristics of private goods and

public goods and also explain  the difference between

the two.

      


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3. What are the determinants and components of the money

supply ?



4. What is the process of credit creation of the commercial

bank ? Explain.

      



5. What do you mean by paper standard ? Write in detail

the merits and demerits of paper standard.

       



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 
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1. Explain the static functions of money in a developing

economy.





2. Explain the Narasimhan Committee formed on banking

reforms.



3. Describe the qualitative credit control methods of the

Central Bank.

 

4. Briefly explain Adam Smith’s theory of taxation.



5. What is protection ? Give your arguments in favor and

against it.



6. Compare modern international trade theory with classical

theory of international trade.

       


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7. Explain the role of central bank in economic

development.

          



8. What is the most important source of revenue of the

state ?



**************


